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General Marking Guidance

All candidates must receive the same treatment. Examiners
must mark the first candidate in exactly the same way as they
mark the last.
Mark schemes should be applied positively. Candidates must
be rewarded for what they have shown they can do rather
than penalised for omissions.
Examiners should mark according to the mark scheme not
according to their perception of where the grade boundaries
may lie.
There is no ceiling on achievement. All marks on the mark
scheme should be used appropriately.
All the marks on the mark scheme are designed to be
awarded. Examiners should always award full marks if
deserved, i.e. if the answer matches the mark scheme.
Examiners should also be prepared to award zero marks if the
candidate’s response is not worthy of credit according to the
mark scheme.
Where some judgement is required, mark schemes will
provide the principles by which marks will be awarded and
exemplification may be limited.
When examiners are in doubt regarding the application of the
mark scheme to a candidate’s response, the team leader must
be consulted.
Crossed out work should be marked UNLESS the candidate
has replaced it with an alternative response.
Types of mark

o M marks: method marks

o A marks: accuracy marks

o B marks: unconditional accuracy marks (independent of

M marks)

Abbreviations

o cao - correct answer only
ft — follow through
isw — ignore subsequent working
SC - special case
oe — or equivalent (and appropriate)
dep - dependent
indep - independent
eeoo — each error or omission

0O 0O O O O O O



No working

If no working is shown then correct answers normally score
full marks

If no working is shown then incorrect (even though nearly
correct) answers score no marks.

With working

If there is a wrong answer indicated on the answer line always
check the working in the body of the script (and on any
diagrams), and award any marks appropriate from the mark
scheme.

If it is clear from the working that the “correct” answer has
been obtained from incorrect working, award 0 marks.

Any case of suspected misread loses A (and B) marks on that
part, but can gain the M marks.

If working is crossed out and still legible, then it should be
given any appropriate marks, as long as it has not been
replaced by alternative work.

If there is a choice of methods shown, then no marks should
be awarded, unless the answer on the answer line makes
clear the method that has been used.

If there is no answer on the answer line then check the
working for an obvious answer.

Ignoring subsequent work

It is appropriate to ignore subsequent work when the
additional work does not change the answer in a way that is
inappropriate for the question: eg. Incorrect cancelling of a
fraction that would otherwise be correct.

It is not appropriate to ignore subsequent work when the
additional work essentially makes the answer incorrect eg
algebra.

Transcription errors occur when candidates present a correct
answer in working, and write it incorrectly on the answer line;
mark the correct answer.

Parts of questions

Unless allowed by the mark scheme, the marks allocated to
one part of the question CANNOT be awarded in another.



syJaewr 7 [ejoq,
IV (1me) %716
moo? tol @ onF
TN z 81°0 16 1-60C €
SYIeW T [e)o],
MSIMO[Y [V (€ +xg)(L—=x¢)T
AAN+R©XA|R$
0
A\Tw RmXANlu@v
(0]
IN | ¢ (4= ¥6)T z
sYIeW T [e)o],
¢
0 ‘(20) —
v €€0 “(20) -
¢-)-9 9—¢—
N 14 ATYT I
SIJON MJIBIAI JaMsuy SuD[I0OAN 0O

SPEIN ASDD [BUonEuId) U]




SHJeW g [B)0],
v (20) xp+¢-
1N (z-ee—¢
Syaew g [B)0],
v oCCE
8¢ —09¢ dO
081+ <y O
AIYSEN
TN Je J[3ue FuLIBIQ JOA1100 SUIMOUS WeIdeI(]
SyJewW g [B)0],
n
— 10 D_g6
v (6 F
by
qoe 90
(2'0) | _p 4O
TN ¢16




S)Jew g [B)0],
v vi=14
4
B, (6s+€c)
vLS  SPIT s
d0
(4
vLS=1(65+€0) —
TN !
SYJIeW 7 [B)0o],
ON UQY} UuI] JoMSUE A} UO ,paUutlapuod,
$SoUN) [ ¢ SAI00S (M F7) Ul SHUSWS[S
1001100 SUIMOUS WeISeI(J UUd A U}
1€ S9I100S g pue F UI S)USUWID[D
1031109 Surmoys weigder uud A (7) 4O
udasou{1‘3o‘pogri=gNy
J1(00331-)zd (1) YO
¥

S)oyoeIq SUISSIW dUOPUO)  [g

1d

{fayt=,Ggny)

ANA%A%nNQnQnQAGW — QDVN




SyIew ¢ [8)0],

i .
Mm NOﬁX «nw~ m:
((.81°¢,, Jouoneouny 3
1091I00UI JOO[IOA0) S Je Jduidnn)  1g WOTX  (8T°€,s
Joarroo,,
STNq papunor 9q 03 ALY jJou
$o0p . 81°¢€,, oY) pue (8),, u0yy g 81¢ 11
syIew 7 [B1oJ,
IV S
L+(+ d)g—dt
0
IN L+xX9—(1—x¢)C 01
syIew 7 [e)o],
(00) =
A0) —
v I
X7°X
ADOV %
IN X'G—XT'€¢ 6




SYJeW ¢ [B)0].

IV 8C-S1=2:X
96 z z A
0f x A X
d0
(4@
TN 9¢:0e=2:X
L z g A
9« PPy
d0
(20) 9 8%
8y 0¢
z 4 x O
9G:{py=2z:4 pue
1N 8y oe=4:x €1
SHJIBW ¢ [B)O0],
I
vV 8 ¢
(4@
Swady,, Sutdyes [N y+8+CI=X¢—XC[+X9
dis uSis ouo mo[e [N Cl+Xe=XCI+H—8—X9 4!




SyIew ¢ [B)0],

3
‘NS -y
14 L99°0 z
mmm.onM|§
1d !
UQ0s Wy —]=1
40
1d wg=u SI
SyJeW ¢ [8J0],
184 0r=x
d4a)
IN Suneurwipo A[302110)
|A+M+ +x
081= X S+XC
1IN pue 081=4+S1—xy YO
[4
(ddQ) S1-081-S—081="Xy—XT+-—
IN x¢
4
= —X{)— +(S+x7)+— O
. 081={(ST-xp) 081} +(s+x2)+ 1=
XE—Xp—X8=0¢+0I dO
(d4@) Mlxmlxvnmﬂ+m oy
TN X¢
[4
—xp)=(§+x7)+—
(Juowojes [BOLOWOAZ) [N (S1=xp)= (s +7) X¢ 14}




SyIewW ¢ [8)0],

v =X
Emuwmc € =X pue ¢ =X joq je paulexy
ﬁ ¢ =Xpue
7 = X JO duo Je Ajjenbour surwexa isny
sypew [0y sorjdwr uoas Sunjiom [N .
1991I00Ul OU PUB UJS 7 = X :POYIIA 10LIF PUB [BLLL,
0V TN TIA S2109s Ajijenbour
Jopeaisur Ayrenbo joosny v =X ]
X¢—>6'6— "0 xT< ﬂm
k: ()
Aﬁwmc Xp—=>11— ¥O Xy <II
S—xg< m +X
d0
IN 0l—X9<[+XT 91




syJew § [e)0],
v I
8 8
IIN 4 78C — re9+6C
v L
_°
N ¢ SL+69 SI
syew § [€)0],
A7— Az
AOOV ¢ ¢ =X
v 6—.4 -6
(d9Q)
1IN (suudy Suroyjes) A7 = NA -6
(daa)
1A (Surpuedxo) NA +xA7 + X =6+ X
IIN NAA+5HQ+NR L




SyJIeW § [€)O0 .

weIgerp
9Y) UO PalIIUPI AJIBI[O
(sp1009 yum) syurod 3doooy

0 19 paSueyoIul ) pue g

(oprew
51 300pap a1) (&) 1red ur Ajuo
90UO [9qe] SUISSTW JSI[BUdJ

1d

Id

d

d

(I- ‘€D
(¢ ‘0g
(€D

pue (1- ‘¢-) ysnoiy)
Surodour) g+x=4

((s'1-¢'D)
pue ( y-) ysnoiy
Suro3 our)) x—=d

e

e

61




SyJew G [€)0 .

v (08) |8
(Fs¢ 01 Sunyiom J1) €60% 10
v 9607 10 T
881 C
N 005
W ¢ T T
40
894 (00991-)
‘THO 8V ‘T 1 10) 1 Moy 4 91 8 ¥ T | ¥4
sy.Ieul § [e}0],
v 009 MMB =X
(ddQ@)
IIN Iré 8
v (o) 2~ Yo
N 96T X
(90) B |X
96T X 40
(d3Q@) _ & _ LT
N O17=) WNa ¥
v €=y
(@/D
= 1 = W
IN y 95t 0z




SHJIBW G [B)O],

v =)
eX¢T
(z—xsxp)-18/* T 6

R:(O)

(z-1)(1+75) 29 pinoys

(daa) onepenb

IN [BIWIOULI) € OAJ0S/3SLI0108] 0 dwony

1IN OH..N|N0| NNW:

(0099 1-)
(20) T—16— S

MSI MO[IV cd

[44




SyIew G [B)0],

"1001100 9q Jsnwi odeys pappe Y 19 9~
pue A[uo weidelp woij 3 ¥y19g I-
(0099 1-) 0
cd -
.06
1d L1 X4




SyIeW G [B)0],

8% (C—xeNg+x0)(p—x)

v (T—x)g+x7)

N 9—XG+ X9 orerpenb astioloey 03 3dwany
v () ¢=y

SJew A oy
J10J 1091100 9q 1SNt BIQAS[Y [N

0 9- ¢ 9

|
vZ- 0T ¢ _

vZ+ 92- 61- 9| ¥
“UOISIAIP dIJAYIUAS

qd0

(3991105 TUOISIATP) P +X97— X61— X9 @L
9—XG+ X9

b (0]

(S =y yim syosoeiq Surpuedxd) 7 +Xx9—X()7— XS+ P X9
(0}

YC—Y=61— 10 9—Yp—=97—
(v (ar+9)— X (vT—¥)+9= :

pz+x(ap+9)— x(pz—¥)+ X9 =(p—x)(9— 1+ x9)

L4




Sy.Iew 9 [B)0],

IV un el
TN NA.,@@.._V:V - N.—Vﬂ%f
(3oex9 S1 yorym
€/t 1doode) wo L9y
v ‘(€67 woy) wo 99°y
x
148 _ wody. .
IWON:
WSOTw=pIx " uxy
(W2 0T = DGV O 103938 JO BAIY) :PDAIRUIA)[Y
Xy
‘—HE 1 M.QN:
v wo €°6¢
uonsanb ay) ur aoU0 PIX ZXT X 09¢
ATUO 3UIPUNOI JOQLIOOUL ASI[RUS] [N 01 ST




sy.dew / [e)0],

(0) ur (q) woxy
[V JO pieme
aAnpdadsonax A.o.ov NH d
ON IV I
MX:M:X:|:|ﬁHQ
14 ¢ L
dO
d u1 sui1a) Suriotyjed
(W) A S £ 09 ! m
doy+-09/,€=(d Ky ——=d =
-1)E/T 3oy TN v T LE [
AOOV @H:M:X:m:.TﬁNm
v LE v 4 I
S ¢
W Xazu
IIN 14 4
ared
JO3II0dUT [oBd
ToyKjeusd - ¢g 97




Syew £ [e)o],

210y Ajeudd §s ¢ Alddy v Q€€
N m.waHm\/xm@
(umoys A[3091109)
84 wo =4y
IV SEI=HVXS'L+SL
ASEIM =@V +.01)x(ST=u01.)
TN R:(0)
v (S01=D0F) SEI=DF XS L+ST9S
ASEIM) =¥ +(ST-01)X(ST-01)
N SAAIS (] = AV X D DV
v WO )’ Q M0 = JJH

IIN

[SEM) — (SN = dH

LT




v 19F ‘09% ‘6St = BdIY
z
G 9EP9 € Tu+u6LTE SEW) X0 " 988LL ST X —
(d4da) I
IIN =BaIy
L'€1 9T Mme = D)
v A0 +'SE ‘€SE Mme= qp
TN D@ Ioqy  puy o) 5/3ehd 1091100
v ("'988LL'81) 8'8I MM =g
gz uIs = ﬁ
a9
z
OV xg x— =8y
IN I
POYRJA A[SUeLLL, PI[3UY IYSIY 87
v A0 ("10TL6SY) 091
4
(8e)urs 61 a.mmxovxﬂ = BaIY
4
ﬁw% (9¢+79)urs X0 WX Op X =8IV
v 1T eC =04
gzuis  pguIs
TN og o
v 8T=0V9/
IN 9-06=OV47

‘@ g 2SN 0) pIdu FHOHIAA poyIdA

8¢




|\

9% ‘09b ‘6Sp = vary
Ammgv UISX, 7° X XW = BAI
-~ BOUS X, TETW X0 X v
v €T IMe = g
gz UIS g uls
1A og o
v ST=avas
(29+06)—081= qVe”
IN O
v €T IMe = g .
(d9@) pets = — 28
IN WO88LL'8T.,
v ("988LL'8T) 881 MMr =g
QzuIs = o
T ag
C
UIS X X X — = B3I
- SGUISX DG X g \ %

!

(1) da13ueLn ,06 3uisn L ON SPOYRIA

87




19v

v ‘09t ‘6SH = eaay
(daa) . . [4
mﬁmmX: :X: :X| = NOH<
-~ 14 06V .%uT €T "
8% 0'67 Mme = D
gouls  HGuIs
IN ory  oF
8% TET MR = Dg
gzuIs  pguls
o9 o
14
UIs x X X— = By
N S OV xXDg |
(€) d[3uern ,06 Sursn L ON SPOYIN 8¢
19¢
v ‘09F ‘6St = BaIY
Ammav uisS x. () X X N BAI
s m m - = <
N 8T 06t .%0F "
8% 0°6Y MMme = D
g6uls  HGuls
IN oV oF
8% 86=09V7
[ (75 +06)—081]+29=Dgr7
14
. ﬁ«mx xm X — Hﬁu&<
N 8T OV X gV 0
() d18ueLn 4,06 Sursn LON SPOYIA 8¢




wopbury pajun “TY0 YZIM ‘UOpuOT ‘pUBRIIS 08 18 91440 paIlsIBad s YaIm
8787/8 Jaquinu Auedwod patalsibay ‘pajwi] uoieINp3 uosiead



